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_ Practice Paper3 o
“C_Qag_g ol , Date 16.12.2024
, JSubdeci /V]afhe_maincs Max . Marks = 80

L&ENERHL_ INSTRUCTION.S :—

| AL workmq .mcﬁua’_ma rouwh work. , must be.

\'C/

‘-cﬁaarﬂy shnum and must be_ a/one_ on the

Same. sheetl as fhe. re st o-pp the answer.

__2) =) (/ndudmo
ﬁormuﬂae\ will siocult in '£}"L€ ﬁo&s‘ o-ﬂ
marks.

3 The intended marks for guestions orbari‘s
o-e Qu,pc‘hons are. (clziven a brackefs EJ
Lt/\ 7716. Guesfmn ba.be.r C',on.Slsst of 11 ?uPsZLIO/IS

dn/:d,pﬁl, into %wo sections A and B ‘/o mar ks

each.

_SECTIoN A (40 marks)

IQH:embt bt all Ouesi-lons Prom 1this cection.

uestioni

—Usmg ,bro,bariies o-p joroléoriion Snﬁve_ -for

N, qiven
/[Bx + /2x-§& = Y [,SIY)J
[5 —J2x—-&

Snllve. the Lollowing ine_guafion and, revAresenf

(b)
usuy solution on the real number line :-
6L —x< | —3x= 3]l -x ,xeR [zm]
2 — 2

(| Find the ratio in which ﬁhe_lma#aming_@é)_

and. (=5,-6) is divided bg the line é/—-S

Hence. fmd Lthe bnlni‘ ol intersection.

i Paae { & [Lm]




Class [p*h Mathematics

Quecstion 2

@\ A

containe 5 white balls , & red hballs

and. "9 areen balls. A ball is dr/)u}ﬂ at

randem ﬁrom the bag. Find the brobab/[nzu

Pl sl A fee

Wl o Qreen bcLM/

il o Wl’m‘:e_ or a. red ball
(i) s nejthey a agreen ball nor a.white ball.
4 Bm]
Cb: The. mean o-ﬁ %}uo ‘féo,wnu)/nd distribution is
49 . Flnd the )’)’HSSIHO ﬁrpdauencu ‘a,’.
Class 0-2p0 2p-Yo ‘7’0 50 éo—go S0-100
reguency 15 2.0 30 Y, Lo
4 y 3m]
2 3 ) .
e T8 A= ,; Pind > and y sa that
& 21 ¢
A% = < A + L/I , where T (s 2X5 jdentity
matyrix. dElMJ
Question3
L&L) The. 2nd and Usih terms of an A-P. are 10
and 96 resvlpec%iveﬁol/. Find the A.P. and.
bence , Lind the “sum of the first 15 ferms.
_Jb) In the adnomma -l?naure = [3”)_]
= &8 ks o fanapnf 1L/e‘ Hﬁp et

il aboptlat cr B lents L 23N fE

is a cyclic ouadrzﬁafemﬁ /\\ \3¥/
T2 A& =93 and ZDLE =35° o

Einddi g 2 ADE \\\‘?3 =
(i) £ CAD \5<—//
(i) & A / -[5 m/]
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Class 1otk Mathematics

(el Fmd, the. nmfure. of H:a__roots 072 the
_,.44,A£O'p.40 u_oln() Quadra'élc. e_qumf/on . l-f +the
real roo-és e et ; ﬂmoé them :—

U Y E e = [4m]
Que.stionl
(@) _Prove the Lollowing identi év o —
Sec A ; S <=chH o , CK)Sec 2 g f3m7
== — = P
Sech - | sechH+]

(jb Using the Remainder and Factor theorem,
Bt ises bz Lu i sing Iboﬁunom/'a/, i—
X,3+IODC2—“37>C+2_60 3

(e Find the mode ol the followusing
distribution bu drausing a Aisto qg;(m —
Daily wages 31—36 z27-4Yo Y3-4§& L/‘? S5Y 55-50

No. of Wor%zers ) L 2.0 15 q
[um]

m]

secTioN B (Yo marks)
F)Hemb‘f: rm%aeour LUe s tions -from this Seg_émg__

Aue.stion 5

(@) The marks ~? 10 students of a. class in an
o xamination arranged. in ascending order /s
a.s —ﬁn Mané a=: 13, 25,43 Y6 >, x—t—‘f 55, 81F1 50
T8 the median marks [s ng -IQ/)’IOL '/:he_ Vg/up
Hence. , Lind the modp ol the given

ol > .
(by Tf A = =] ond C = 7 —IUI , £ind ma{rlx 8
such that BA=C [3m]
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Class [oth

» Mathematics

() The. angles of dﬁkre_,s,sﬁ/,an of '
B ahd R as ob_garved,__—l?rom the 7‘()[) 4
__landightAnice &nm }ng% Are &0 and Y5°
| & resbecfh/plu o If dhe fum ships are on
i ‘H’\e obbosz%e sides mg the. ,Z/Q%LL %oase
 Linel i distance. be‘éwaan tuwp ships.

i
‘ CIIVP unur answeyr correrf £0 f/ho né'areszl

|

| W}’mﬁa numbe.r. F—/M‘]

Question 6

(@) Amit deposits 1600 ber month ina. bank

for 18 monz‘hs in a recarrmo dekosw’-

aecaont. TE he guts & BlaB0 at " Jhe time

of maturity . l/\/ha?i,l is the rate of interest

per r,zrmun(qr 2 Zm]

(_E) P(l —2) e bomt on the line seamenf
jaining A (2,-6) and B(>x,y) sucl that

GA P:Pg [s equaﬁ, to 2:3 ché the co-ordinates

aldifs [3)')’”
(cJ) In the admmma -f:qure. PQR s a, -

triangle. ‘S'is a boint_on the side. \

aR_ I NPaR such that .

ZPsR =~20PR. Given tb/ \ \C‘%

QP =8cwm , PR = Ecem // (Y

and sR = 3cm. & g 3mpR

iy Prove that DPAR ~ D SPR
41)) Find the le.nom% of QR and Ps
(ir) Eind. area ab APOR

area of ASPR [4ym]
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Class 10t Mathematics

Que siion—'?

yi
>

N A ecylindrical container is 4o be made of

tine sheet ke #)gioﬁi’ of) the containey is

Im and s dzampfear s Zoem . I[E  the

‘COhi‘amer IS open at the top and the tn

shppt rnsfs S 300 ber m?=* -}—plnd i'ha cosf

oﬁ the tin sﬁepf -.Eor makma LL/’Ié container.

[4m]
(b)

The -I—Dowow/nq table shows the. d[sfribuf/on

of the Aeioht of a. group of students i~

Hgnaht@m\ Y Tivo_1Y5° JUs 150 15n-155

Naobaludoits e ) 18

—

155040 160.-165 165-170__170-125

>0 25 O 4

Use a arabh sheet to draw an oc'gu/e

Bl bhet it e bibibabinniol das s

ogH/p y ol
Lirvid -z

D) -Hma )mLpr Ouaf‘f)fe, ranog

> the numbe‘r 2b mbirdote whose ﬁg/qﬁt

is more than 168 cm

@) the. witiibet iott eliidovits Hnhnse: %e,/o%z‘

ie lese than 1Y8 evn . fgm]

Ques tion&

—@

A ,QmP baSSes ‘H’Irough HL? bo:n't P(é 2\

and quCs off bosanVp mfe;fCe/;f on z%a

X—-Axis anrf, u axls in the rcué/@ 3:Y,

FIH&L the @Quaf/()h (va the line..

G
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Claes Lot “Mmathomatios

Soﬂve U«g -ﬁo.ﬂ.ﬂou&m@ lnpgua"f/on a'hd

YeEVQSQn'é the Snﬁu?ﬁ/())’) st on  d

humber ,a,lne e

Gm]

_814-;—93657—1 o N E
2 ) 2/

From a back of 52 klauying cards _ all

(<)

cards whosé»_ r)umbers are. mu}%;bées

mp 3 _are removed . A card I's nous Arauw

at _random . What is the brobab/jnlv thal

the cayrd drawn js

(1) Q —ECLCQ (‘QYYL

(D an even numbered ved card 2 [Um]

RQuection 9

Wha‘f: numbpr shnuﬁ_d, be_ Sabi‘ra_cferﬁ -from

Zx — A5x*+5x S& fhmf ‘f/’)p resuﬁzé/ﬂ

boﬂunom:aﬁ bos a Pactor 2x-— 3 9 é/hj

Pro ve  that

s5ind — 2 sin39 = tan®@ [3 m.]

2 cns3Q —cos@

rabh balgor Lor this auedfzon

Use.
“both x ands g-gxi<)

fake‘ ocm = 1 unit a,ﬁona
ARCD isa ouadr;,éa{era,é whose vertiles —

are A (2, 2_\ B ou=2) e Cos=ly'dnd Do),

B Rg—”ﬁai Guadrlﬁa‘fe_raﬁ HRCZD aon -[-/1@ (/ ax/l.<

and name it A'R'CD.

'H) \/\/H":e_ dowsn the (onrdlnafe_c /)f A’ and R’

‘.

111D Name. two Aomfs which are invariant

under the b pel daatin
[4m]

T Name the ,bnﬁélg_&r) A’R’cD.

~
T
L
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Class Loth | Mathematics

e ——— e T, . S ==
———————— — e — S *— S — e

OugctlQn 16 50mi 5 S
@ What numbey must b added e ol ofl L
the numbers 5,11,19 and 37 s that ihzu
are. |n broborbon ‘7 r3/n7
PQ" lhe  sum @.f the areas /)-2 £ 100 S FuUares
is Yo wm> . [ the ditlerence in the /r
ber. Mmeters |s EYm, Pind the sides of
; 'Hl? two sguares. [3/77/7
() Tn the CmLJomma -fmurp.
AC is a fahuaenfdfo the / \8
circle with ‘certre 0. 12 5 AR
£ADR =55° Lind x and R
Y . Give. yveacon Loy Jour /#\ / /
answers. H\V%— EJ MJ
\55’/\
X
Que stion 11 B X
ool 14 L= Art ey -, Lind. S N
’ [zm]
(b) A comcaﬂ, tent is foaccommodate to 11 ,bersons.
il = berson must have. L/m of the space
n the around and 20m® of air to breathe .
Find the %e,mht 0f the cone . (3m]
(Dl Find the mean /bu any me thad) :— .
_ lctass I‘n-lervaﬁ 20-30 " 30- Yo Uo-56 5o-so mn-75
Frec)uem: Lo <) 8 [ 2. 2
[um]

~
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